


Select the set in which the numbers
are related in the same way as are
the numbers of the given sets.
(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into their constituent digits. E.g., 13
Operations on 13 such as
adding/deleting multiplying etc. to
13 can be performed. Breaking down
13 into 1 and 3 and then performing
mathematical operations on 1 and 3
is not allowed.)

11:87:34
6:28:8



|1*=8343Y
6" =

99 UC P TG99 N o g Sl
TR Haftd & o U v e 9 &
%

Fre: wfpag gof wemt ® @ S
IRy, HEARI B ITD TCH Dl H A
fer| SeERw @ forg, 13 W 13 WA
o f& 13 § Srsar/gem, O HRAT
anfe far o1 w&ar 81 13 & 1 iR 3 #
dreqT 3R fiR 1 3R 3 W™ IR

W @ A e 2 )
11:87:34

6:28:8 (\

(a) 9:25:54 X) 8:19:47

(b) 7:35:12 L4 12:81:6%



How many triangles are there in the
given figure?




M Select the correct mirror image of
the given figure when the mirror is
placed at MN as shown.

Od SUUT B fQ@Y MY FFER MN W

N

@l WY @ q ML ;P B FE U
Bfa BT TIT BN |




How many triangles are there in the
given figure?




The position of how many letters will

be changed if each of the letters in

the word “JOURNEY” is arranged in
abetical orde

“JOURNE IR B AP JER DI
quidTe S A gaferg fhar e ot
foan gl o Rafa sga omeedl?

(a) Five

'é ,J- N 0 KU |b) Seven

(c) Four

}wﬁ



)(;.:

N

@ AT B |

Select the correct mirror of the
given figure when the mirror is
placed at MN as shown.

&g U A @ AR wE U BT TIA
P} 9 JUU DI fI@Y ¢ FFER MN W




N O[> O

(c)

X @

Identify the figure given in the
options that when put in place of the
question mark (?) will logically
complete the series.

9 H S AHIa B TgaE o wed s
?) & WM W WA R AT dHETA
w9 9 0 B ST |



Identify the number of triangles in
the given figure.

& 7$ ampfa ¥ el 9w vgEr |

‘/m’s
(b) 12
(c) 9

(d) 11



Which of the following letter-clusters
will replace the question mark (?) in
the ven,-&enesd_t?_ make it logically

e M‘L

ER—EE <& Ty
HGAT DI dMfbd wI A QO 91 P forg
yed fag (?) @ ufoenfa &xan?

L17Z, ?, R22V, U29T, X27R

(a) M21Y
(b) N23Y (@
ACT024X

(d) N21X




In the following number-pairs, the
second number is obtained by
applying certain mathematical
operations to the first number.
Select the option in which the
numbers are related in the same way
as are the numbers of the following
pairs.

(NOTE: Operations should |Dbe
performed on the whole numbers,
without breaking down the numbers
into its constituent digits. E.g. 13-
Operations on 13 such as adding/
substracting/multiplying etc. to 13
can be performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1 and 3
is not allowed.)

(8, 108)

(14,186)



R\3+Y

(8, 108)
X \?)M«ﬂl,lsﬁ] ® \/tﬁﬁl,147

99 9C @1 999 N O9d & Sl
yPR Haftld & o fAefaRag 9e @
HE&T 3 |

(Ale: =Rl & SUd UcHh Dl H ds
famr, gof YRl w dfhad & S
ARy | SEENT @ fow 13—13 W Hfeharg
o f& 13 § Sitedl, ©SHI, O Rl
anfe far <1 G®war 81 13 & 1 3R 3 #
dreqr 3R fiR 1 3R 3 W R

AT BY B SRy T8 &)
—

>4a) 5,73

(c) 16,204
(d) 9,107



How many triangles are there in the
given figure?

& TE arpfa # frae P €2




Find out the correct alternative that

when filled in the blanks in the same
Seq ence.,, will make the series

'4}‘@ ) 3

CN FFME LC_[LKFCJOJI_

et e S ARG/ i Re v
ff W B A R W ’.ﬂ?ﬂFIT e CU
SR |

CN FF ZE ILC__KFC OJI_

a) VNDLA

(b)-XNDKB"
(c) XMCLA
-— "

\MMDLB



How many rectangles are there in
the given figure?
& g ATHia F fha g 87

(a) 9

(c) 12
(d) 10



10 is related to 17 following a
certain logic. Following the same

logic. S0 is related to 65. To which of
the following is 26 related following
the same logic?

o S8 2% m Fe——
l_/ 2% BZJ) U4y (Y wEa 2| S 9@ @1 e FRA EQ
£ ‘% 50, 65 ¥ Wdfdd & | T a@ BT e

B gV 26 fr=feried # & foww wafta




Find out the correct alternative that
when filled in the blanks in the same
the series

lgpic copfplet
98 Vel fAded sa diore o R =i
P WHE HH H WA R HGen dfod ®Y
¥ gul g Sy |
BV E_YPLD_ US_EZZFHE
e
(b) WDEFL
(c) WCDFK

(d) UCCDG



@ TS Pl F fFam Py 87
v
S
7 (a) 14
(b) 12
(c) 15

\_{d) 16



Select the combination of letters
that when sequentially placed in the
blanks of t iyen\series will make

y complete.

BT TIT X o o)
TS S@e & R wEl # Hfe 0 9
W W gl difbd w9 | qof =l
TG |

_TCUBH_VB_QWBJX _
(a) BOJY_

ey (y

@2y




tlo z C© Identify the figure given in the
options that when put in place of the
I 7 question mark (?) will logically
0|8 0DID complete the series.
= Reedt ¥ Ry T Rm @1 el o
0 ue fag (?) & WM W AW W e bl
T difdd HY |/ G ST |
(c) C
Z 8
o s 2| B
(d) L]
C T




If 14 March 2007 is Wednesday, then
what will be the day of the week on
12 17 June 20137

_N/W,"-d—ﬂ—)gjaﬁ 14 #1¥ 2007 $T AR B, T 17 S
2013 I G@Ig BT fa7 a1 Brm?

@ (a) Thursday
(b) Friday
\_,(.o)‘anday
(d) Saturday
Db
)

TS YV ~2_



Identify the number of rectangles in
the given figure.

q TS Y W Sal Y HEr yghH |

S

(a) 7
(b) S

(d) 4



Select the combination of letters
which when sequentially placed in
the blanks of the given series will

cum?ete tFa sz*:'es

IERT B SY GAOH BT TI9T BN fory
TS HEen @ R WEl ¥ e wU 9@

T W @ [ 8 AT |
TU_U_XWXT TUWX_X
(a) TUWW

(b) TUTU
(c) TWTW

A TWUW

®




In a certain code language. EU32

is
written as }N.\z_gl—-&nd—HRSZQ, is

written as OK\Sy How will Ségg be
written in that language"

te fAfEd &e /| EU324 &I
: LN361 3iR HR529 OK576 forar
chomdﬂav'm ST 3| GS625 P W AT § H9 foran
SITQT?
S 2 e'F(:{ é)\? )((a) LM756 o
(b) LN676_ W
)((c) MN756

(/(d'r NL676



(c)

u}ﬂﬁCOOG

00000

®

Identify the figure given in the

OOOQOOOOOO option which when put in place of

the question mark (?) will logically
complete the series.

fdpes 4 @8 mpfd wg=fiy S8 uw=
fre ) @ WH W WA W HEAT
Wmm’@rq;ﬂg‘r?rwﬁl

v €

g N
'a@&}



29:160
31:138
27: 150
21:120

Four number-pairs have been given,
out of which three are alike in some
manner and one is different. Select
the one that is different.

(NOTE: Operations should Dbe
performed on the whole numbers,
without breaking down the numbers

into its constituent digits. E.g. 13-
Operations on 13 such as adding
subtracting multiplying etc. to 13
can be performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1 and 3
is not allowed.)



IR wea—ers fay v B o |/ dF
fHd avg 9 W9 B 3R U T 2| SN
2:@2?3%%3'@3#.

21:120 3, (Alc: &Rl $ IHS °eH bl § A
\J}ﬁm,qufmeﬁ' F W wfRa @ o

L o1fdq | SereRy & fow 13—13 R wfhang
(Q%*B)Xf ..“-}é N 6 13 F S, "R, O FR

X anfe fovar <1 |aar 81 13 B 1 AR 3 |

@?*3))(( aﬂwuaﬁ? iR 1 8k 3 W™ R
(AXS

(b) 21 : 120
(c) 27 : 150
(d) 29 : 160

29:160




How many semi circles are there in
the given figure?

& g arpfa # fraw onf o &7

(a) 12



In a certain code language, ZEPHYR'
is coded as 'IIYLHV’ and 'SCHIZY’ is
coded as ‘BGQMIC’. What is the code

for %I in the given code
fulgay,

A @c WNT § ‘ZEPHYR’ &I
‘IIYLHV’ 3R ‘SCHIZY’ & ‘BGQMIC’
qcag fbar orar 8| & g FH A |
‘ZINCKY’ & forg e a1 &7

_‘0' 'l'l‘”'?_H'




Select the combination of letters

that when sequentially placed in the
blanks of the given series will make

l¢gically complete.
RLFP

949 BN fore o
TS SEen & R w@E § wfie WU
W W HE@dl afdd ®9 § O &
SIS |

FLG_K_JMPH_RUFP_

(a) GHMX

the serj

(b) OWMO
/w@

(d) ABDG



How many triangles are there in the
given figure?
87

& TE amefa # e




Uy, P|3 V]
"X A ?
3 X :
Al tiT PR, X
ped
T A T
@ X o
AP I
3 W, P
X
aQ, U
2\
T 3 T

/,\ Identify the figure given in the

option that when put in place of the
question mark (?) will logically

complete the series.

ﬁaﬁ—qﬁaﬁ'wﬁrmﬁqfiﬁm




In a certain code language, ‘YACHT’
is coded as ‘8’ and ‘SHALEOD’ is

coded as ‘24’. How will ‘ANALYSTIC’
25 ‘ ‘5% e be coded in that language?

C \(g’u\ s fAR¥d @ W1 H, ‘YACHT’ &1 ‘8’
VH- ”T -_— g % snv ‘SHALEOD’ E’f 24 W 'ﬁ)_q'l'
. g “2{"‘1 ST | 98 ‘ANALYSTIC’ &I S9 19T ¥




8 3 A0 V X 3 0lA D V
X V A 3 VD!S
0 DD'/ 8 XX 8
\_/ \—/
8 3 A 8 3 A&
D X X
( / (c)
O V D V
vV & D 8 A
X 0O Vv
' a@
8 3 O

Identify the figure given in the
options that when put in place of the
question mark (?) will logically
complete the series.

fepeai § & 1% arPpfa B wEEH O
g e (7)) @ WM W @M WGl
THETT ©T A T 8 TG |



Identify the number of triangles in
the given figure.

few o Rt # Brge 9 S |




Which of the following numbers will
replace the question mark (?) in the
given series to make it logically
complete?

frefoilad & & @9 @ d&r @ g

P U i -
W (?) 31 ufoRenfd Hfi?

8, 17, », 197, 773, 3077

@57 S by

(c) 45 :l:'d)691lii)



Each) of the letters in the word
J O#NAL are arranged in
alphabetical order. How many letters

are there in the English alphabetical
series between the letter which is
fourth from the left and the one
which is second from the right in the
new letter cluster thus formed?

¥ JOURNAL ¥ W% 3J&R qUHTEl shH
¥ gafed 8| 39 YOR 99 7Y 3ER 98
4 9q¢ | dY R AR M F TR AR
@ ER b o IUSH qUEHTST S@er H

fae IR &7
(a) Six mge : ‘-;’l

(c) Five (d) Four



AC DBZAR LMNOPSTY W- - - -




% % Y% Y% Y%
KKKk
OO
(1]

al
LA

(b)

% Y% Y% %
% s v
OO0

e

LI

)20)

N

RS

Identify the figure given in the
options which when put in place of
the question mark (?) will logically
complete the series.

fapedl § < T3 Bl B vEEN o
e R () @ WM W W@ W@
T ©9 § T & ST |

***** QO "’:":-‘ ___l |_J_ e
O000 __J u_ AAAA|l D% %%
HiNE FARAL % % % *** ?
%% ok OC -
% x O []



Q-2
-2

In a certain code language,
‘RHETORIC’ is coded as ‘6’ and

‘GURGLE’ is coded as ‘4’. What will
be the code for ‘SIGNATURE’ in the
given code language?

e fAf¥ad @i 9T ¥ ‘RHETORIC’ &
s ® WY ¥ PIfST P W & 3R
‘GURGLE’ @I '4' & %Y H @ifed fdar
Wrar 81 9 TS 997 § ‘SIGNATURE’ &
fore @ar Bre Brm?

(@) 5 ek
(c) 8 (d) 12



‘M is the brother of N. N is the father

of 0.0 is the mother of P who is
married to Q. Q is the son of R. S is
the father of N and married to T.
How is T related to O?

M, N & 9$ 8| N, O &I fiar 81 O, P
@ A 8, foradr fdae Q & WM 21Q, R
& A BIS, NF fiar iR T &
fdaifed 81 T, 0 ¥ &9 yoR wafta 87

(a) Mother’s father
(b) Mother’s mother

0"‘ R \4c] Father’s mother

|
P

g

(d) Father



(a)

=

(b)

Select the correct mirror image of
the given figure when the mirror is
placed at MN as shown.

o U B fAWW MY FFER MN |®

Gl S @ QMg AP B OEE Y0
B BT 97 N |

(c) ,m/ M
L4



MASTER is related to OAIHWJ in a
Q,‘Z certain way based on the English
alphabetical order. In the same way.

ROSE is related to JMIW. To which

/\ of the following is PLEASE related,
G following the same logic ?

R S f‘/H\f\) MASTER 3{UGll qUETST $H9 & AER W

| v fAf¥ad a8® OAIHWJI ¥ wsftra |

9\% S9! Y8 ROSE, JMIW ¥ Yefd ©|

HHM @ BT Ul HXd ¢ PLEASE
?’% l? frferfaa # & fdaw Hefta 287?

7
P DlemE e
(c) LQWAIW

LPWAL S EPAIY

Ai)xg



If it was Friday on 8 March 1996,
then what will be the day of the
week on 7 April 20067

afc 8 AIH 1996 P! IYHAR AT, O 7 3

2006 BT T8 BT o7 T BNI?

(a) Saturday
(b) Wednesday
(c) Thursday

vyﬁiday D

/‘\

1996 <06




(b)

(d)

Identify the figure given in the

option which when put in place of
the question mark (?) will logically
complete the series.

fider & <1 T8 Ppld @ TEEE o
g R () @ WM W W@ R 4G
TOETd ©Y | Q8 8 S |

Y

-ll

'-

q | ?

k g
b )
0 .
X0 g
''2%




20 is related to 30 following a
certain logic. Following the same
logic, 42 is related to 56. To which of

i vt * qm .G~ the following is 72 related, followin
:{0:30"- L{ZS-G - '47\90 the same loggic? :
( j U% fAREd 9@ &1 Tl XA §Y 20, 30
' ) |9 wEta 3| S 9@ BT SRR Y
(Q 3) (5 bl) (blg)gq 42, 56 ¥ GG & @ q@ B
FTRY HXa g, 72 fefofed o &
fhaa Hefera 87
(a) 94 (b) 92

(c) 88 ‘)4;40



2550

230%1 i
0'/-

125 related to 50 in a certain way.
Following the same logic, 230 is
related to 92. To which of the

following is 315 related, following
the same logic?

125 T& fAf@a dd & 50 ¥ HefRd 2|
Il Tb BT RO Hd Y, 230, 92 W
el 8| S @ & STERY X gU,
315 fmforiRea # 9 faw e &7
(a) 145 (b) 135

(c) 120 AdI 126



o /]

(c)

(d)

Identify the figure given in the
options which when put in place of
the question mark (?) will logically
complete the series.

Aot § & T a3 TwEr AR
g o (7) @ WM W Y@ W@
TPETd I § T & g |



Select the set in which the numbers
are related in the same way as are
the numbers of the following sets.
(NOTE: operations should  be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits. E.g. 13-
Operations on 13 such as

adding/subtracting/multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is not allowed.)

SH ¢ & 999 B Oorad g Sl
YR Haftg § o fAefaRad de &
e g1 (e dfhard gl Sl W
@ W TRy, HERl @ S9d ucd



Il # dre fo=r| SRR & forv 13—13
W® g o fd 13 H
el /BT /O el fe fohar o
Thdr 81 13 B 1 R 3 ¥ e 3R R
1 R 3 W TR GiHaN FA P

26}&:2-1-‘1 — <06

IFqHfa T8t 2 )
REARAAR e 56 - 26 - 60 and 19 - 8 - 22
(a) 60 - 18 - 21
SX'Z-I'S (b) 35-16-18 K
6 - 36 - 100

¥X24K ()22 -5-23 5/

(T )



If the 20tk day of the month falls on
the 4t day before Monday, then
what will be day of the week on the
1st of that month?

Ife w8 ®T1 20a7 o WWOR ¥ TS
Ay &9 vear 8, af 9 W @ IS
TRE B GdIg &7 I 91 &7 Brm?

\/[-a‘rgturday
(b) Tuesday @
(c) Wednesday

(d) Friday



How many triangles are there in the
given figure ?

ﬁnéa@f?f;%ﬁﬂm%?

X

(c) 22 \_(9rZ3



Four number-pairs have been given,
out of which three are alike in some
manner and one is different. Select

the one that is different.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits. Eg 13-
Operations on 13 such as
adding/subtracting multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is not allowed.)

IR G-t fay ¢ 3, fo=H 4 =
fdt ke 9 99H § IR UP (e T & | o
3T & 99 .



(Fie: Gl B 94D TTH D] H dis
f&eT, qof weamen W wfhaTg @ S
AIRT | SR B U 13—13 TR wfhag
ol & 13 H SISHT/HCHT, O B
afe fbar o d&ar g1 13 & 1 3R 3 H
are T 3R iR 1 3R 3 R TR
RhaTY HR DY AR TET 2 )

16:90 \6x6- &

32:201
21:120 (%6~ G

41:240 Y\xp~C
(a) 16 : 90 (b) 41 : 240

(c) 21 : 120 18732 : 201




In the following number-pairs, the
second number is obtained by
applying certain mathematical
operations to the first mumber.
Select the set in which the numbers
are related in the same way as are
the numbers of the following sets.
(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits. E.g. 13-
Operations on 13 such as
adding/subtracting/ multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is not allowed.)



f=faRaa Ser—anfsal #, ugel |
R GO ORI Eiharsil B dr] Hd
T T U @1 ST 8 | 99 9E Bl
g o fAforRad 9 &1 & § |
Y, HEIRN B SHP UcH 3Dl H die
fa=r | SRR & ferw 13—13 W Hfharg
o9 & 13 H ST/ USHT /O HRAT
3nfe fovar ST IHar 81 13 BT 1 AR 3 H
areT 3R fhv 1 3R 3 W R

W F @ s o 2
(125, 30) @
615, 128)

) 165, 28 \({) 425, 92

(c) 335, 73 225, 50



4 Y S 4 Identify the figure given in the

(a) T=0%C (g =0%C options which when put in place of
» Y the question mark (?) will logically

4 S Y comp!el;e the series. |
%AT=C (d) SAT=C m‘aaﬁmm g;@mwﬁ:‘;
qHETd ®Y § T & G|

w44 $= Y F
PASTEIAPKETITAPAOAT=0% X

= YY =5 44 S

\_/ WP



Find out the correct alternative that
when filled in the blanks in the same
sequence will make the series
logically complete.

98 We! fddey Sd g o Rev I
P GHH 59 H W W Gl dlfbd w9

o ol |

WwEKY ENClYG G ZIT | KWO

(a) B “CXQKA
(c) AYQGB Idmxmm



How many rectangles are there in
the given figure?

& g apfa # e sma §?

(a) 9 \/(b‘) 11-
(c) 10 (d) 12



(b)

[
+

11| %
> 4+ D>

Identify the figure given in the

options which when put in place of
the question mark (?) will logically
complete the series.

R % 4 T8 PRt Bt AR ARy
U o (7) @ WM W 3@\ W SEar
dHETT w9 | QR 8 ST |

=ttt AAp ¥¥* =
E o0 E 10| ?
¥ VA= ¥+ H=A +




'How many triangles are there in the
given figure?

& TS anpfa ¥ fram Brger &7
g 7 -

G 3

AT 12 (b) 11

(c) 14 (d) 10



‘FOX’ is related to ‘SJA’ in a certain
way based on the English

alphabetical order. In the same way.
‘CRIPPLE’ is related to ‘VGPIIMT’. To

whic of the following is
‘MOJFMEHJ" related, following the
samellogic?

‘FOX’ UG qUIHTET HH & IR W Th
fRTa o ‘sJa’ | HefRa 21 St
TRE ‘CRIPPLE’, ‘VGPIIMT’ ¥ dafrd
gl WM 9P P Ul I 8/U

‘MOVEMENT’ fa=feiRaa fas
CIEG)
“prTIqrLT




‘How many triangles are there in the
given figure?

& E ey ¥ fraw Py &




M is married to N. N is the daughter
of U, U is married to S. S is the sister
of P. P is the son of Q. R is the
mother of the S. How is N related to
- e ————————

"M fA9E N9 AT BN, U 9 B
U fdas ST g 81 S, P& 9849 B |
P,QBHTaCIEI R, SHI A EI NPT QW

T G 87
AaT €I DI 9T q [{Q
(b) §891 I 91 _



Each of the letters in the word
COUNTED are arranged in
alphabetical order. How many letters
are there in the English alphabetical
series between the letters which is
fourth from the left and the one
which is second from the right?

COUNTED 3 & TP &R I JUHTel
%9 ¥ aferd fear T 2 | o
qUIATAT QT | AR & 4 fha 3R
BId & Sl qI¢ ¥ e 8 3R W 9 T
DI |7 BITT?

(a) 6 s

(c) 3 (d) 2



How many triangles are there in the
given figure?

< g i # fhew e 87



f

(d)

Identify the figure given in the
options that when put in place of the
question mark (?) will logically
complete the series.

Raedt & & 7§ R @ e RN

) 1*:!! \ ﬁﬁ?{(
/
AT



How many triangles are there in the
given figure?

2 ,-gﬂéwﬁﬁmﬁﬂﬁ%?

e

(a) 8 <
\/usﬁl
(c) ©

(d) 10



How many triangles are there in the
given figure ?

€t T$ arpfa # e Brger €7
&

(a) 16
(b) 10

(c) 12
s



What should come in place of the
question mark (?) in the given
series?

123, 194, 267, ?, 429

71 73 39 92 (a) 400 346 L
[ B

(c) 362
Bie (d) 333
—



In the following number pairs, the
second number is obtained by
applying certain mathematical
operations to the first number.
Select the set in which the numbers
are related in the same way as are
the numbers of the following sets.
(NOTE: Operations should be
performed on the whole number
without breaking down the numbers
into its constituent digits E.g. 13-
Operations on 13 such as
adding/subtracting/multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operation
on 1 and 3 is not allowed)



YK9-¢
S7X9-%

frr=ferfaa wear gl #, ugell W& )
BB TORIY |iha o] &Xd TNl
H&IT AT B STl 8 | 99 A BT g9+
B FOT9H = S YhR Heftd & o9
fAr=forRaa |e & S g |

(Fre: TRl B SUD Hed B H dars
fa= gof dear wR wfhard & s =Ry |
IS0 & foIU 13— 13 W) dAfha] S9
f& 13 # ST/ 9SHT /O AT AR
DI ST Hhell &1 13 BT 1 3R 3 & areAr
3R B 1 3R 3 W) O dfshar &

P Al 7L 8)

(42, 370) (/f(%, 253)

(57, 505) ) (31, 288)
(c) (49, 449)

(d) (84, 747)



(c)

(d)

¥ X ¥

Identify the figure given in the
options which when put in place of
the question mark (?) will logically
complete the series.

faseat & <t 7% MPfa B gEE @
7 o (7) @ WM W @ W H@a
ToETd ©9 | G 8 AT |




What should come in place of the
question mark (?) in the given
series?
< TS E@e U fUg () @ WM W
1 AT A1MBY?
n_ 3, 10, 39, ?, 885, 5346, 37471
R 48437 .y R (a) 56

/\/\/‘—{L (b) 45

BT SR @



How many squares are there in the
given figure?

Q g Pl # fa o €7

(a) 11
(b) 12

10
(d) 9



U1 912 CGL 2023 MAINS

MATHS+REASONING

hICOMBO BATCH

3fd TARGET 180/180
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